





















Cont'd	
Let $m_1 = m_2 = m_3 = m$, $k_1 = k_2 = k_3 = k$, and $\omega = \sqrt{(k/m)}$:	
$\begin{bmatrix} m_1 & 0 & 0 \\ 0 & m_2 & 0 \\ 0 & 0 & m_3 \end{bmatrix} \begin{bmatrix} \ddot{x}_1 \\ \ddot{x}_2 \\ \ddot{x}_3 \end{bmatrix} + \begin{bmatrix} k_1 + k_2 & -k_2 & 0 \\ -k_2 & k_2 + k_3 & -k_3 \\ 0 & -k_3 & k_3 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \end{bmatrix}$ $\implies m \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} \ddot{x}_1 \\ \ddot{x}_2 \\ \ddot{x}_3 \end{bmatrix} + k \begin{bmatrix} 2 & -1 & 0 \\ -1 & 2 & -1 \\ 0 & -1 & 1 \end{bmatrix} \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix} = \begin{bmatrix} 0 \end{bmatrix}$	
$\Rightarrow \begin{bmatrix} k \begin{bmatrix} 2 & -1 & 0 \\ -1 & 2 & -1 \\ 0 & -1 & 1 \end{bmatrix} - \omega^2 m \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = 0$	
$\Rightarrow \left[I - \frac{m\omega^{2}}{\underbrace{k}_{\alpha}} \begin{bmatrix} 2 & -1 & 0 \\ -1 & 2 & -1 \\ 0 & -1 & 1 \end{bmatrix}^{-1} \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = 0$	
ENE 5400 復機電系統設計, Spring 2004	电機系





















Cont'd

From the last matrix, we get the determinant:

 $tan\beta l = tanh\beta l$

• The many roots of this equation, $\beta_n l$, will define the natural frequencies:

$$\omega_n = (\beta_n l)^2 \sqrt{\frac{EI}{\rho A l^4}}$$

• Mode shape: $Y_n(x)$, Y(x), $y_n(x,y)$, and y(x,t):

$$\begin{split} C_{2n} &= -C_{1n}(\frac{\cos\beta_n l - \cosh\beta_n l}{\sin\beta_n l - \sinh\beta_n l}), \quad from (5) \\ Y_n(x) &= C_{1n}[(\cos\beta_n x - \cosh\beta_n x) - (\frac{\cos\beta_n l - \cosh\beta_n l}{\sin\beta_n l - \sinh\beta_n l})(\sin\beta_n x - \sinh\beta_n x)], from (4) \\ y_n(x,t) &= Y_n(x)(A_n \cos\omega_n t + B_n \sin\omega_n t) \\ y(x,t) &= \sum_{n=1}^{\infty} y_n(x,t), \quad The \ final \ mod \ e \ shape \\ \text{ENE 5400 ~~ddatashtth}, \text{Spring 2004} \\ \end{split}$$







Rayleigh's Method

■ By equating T_{max} to V_{max}, we obtain:

$$\omega^{2} = \frac{\int_{0}^{t} EI(\frac{d^{2}Y(x)}{dx^{2}})^{2} dx}{\int_{0}^{t} \rho A Y^{2}(x) dx}$$

■ For example, a stepped beam with various cross sections:

$$\omega^{2} = \frac{\int_{0}^{l_{1}} E_{1} l_{1} (\frac{d^{2} Y(x)}{dx^{2}})^{2} dx + \int_{l_{1}}^{l_{2}} E_{2} l_{2} (\frac{d^{2} Y(x)}{dx^{2}})^{2} dx + \cdots}{\int_{0}^{l_{1}} \rho A_{1} Y^{2}(x) dx + \int_{l_{1}}^{l_{2}} \rho A_{2} Y^{2}(x) dx + \cdots}$$

Where is Y(x) from? You have to choose Y(x), and make sure: (1) it is a reasonable beam deflection curve; (2) Y(x) must satisfy the beam boundary conditions

27

©盧向威,清華大學電機系

ENE 5400 微機電象統設計, Spring 2004

















